Weekly Assignment 8

1. Letf(x)= 3 (—1)™t &2t

n=1 2"n
= What is the domain of f(x)? In other words, what is the interval of convergence for the power series?

= Approximate [;'f(x) dx with error less than 0.0001.

n

2. Letg(x)= nzo(—l)” X(;:)!

m What is the domain of g(x)? In other words, what is the interval of convergence for the power series?
® Find a power series representation for g’(x).

3. Leth(x) =xIn(1 +x)
= Using geometric series, what is a power series representation for h(x) centered at 0?

= Using the power series representation, approximate féh(x) dx with error less than 0.0001.



